Name: e Period: Date:
5.1 - 5.2 Review

Check your answers as you go by using your graphing calculator.

On a separate piece of graph paper, sketch a graph of each function including at least three points, find the ;

domam, range, equation of the asymptote, end behavior and list the transformations. (Non Calculator)

(x) =2%-143 4. p(x) = (1/2)log(x — 3) + 1
Lg(x) = (1/32-% =2 5. q(x) = logz(3 — x) — 2
h(x) =5 - (1/2)**2 6. r(x) =1 - logs(2x + 3)

Evaluate the given expression. (Non Calculator)

7. log(1/100) 8. 10'092®
8. In(e) 9, |Og32(1/8)
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16. logz(8?) ‘ 17. 169,
18. logs(1/81) 19. logzsiss(512/125)
20. I0g¢9(343) ’ 21. Iog1f2(1/32)

You may use a calculator for the rest of the problems.
22. Find the amount of money in an account if you invested 7000 dollars into a CD that compounded monthly

at a rate of 4.25% over 6 years?
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23. What is the population of a colony of rabbits that grow continuously for 10 years at a rate of 12.5 % if the
colony started with 120 rabbits?
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24. What is the minimum rate (to the nearest tenth of a percent) of a savings account that compounds monthly
in order to double your money in 25 years?
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25. If you want your ant farm to have 100 ants in 6 months, what is the minimum number of ants you should
start with if their population grows continuously at a rate of 22.5%
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26. You bought a car for $24000. The value of this model care typically decreases by 6% per year. When will
the value of the car drop below $100007?
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27. An isotope of cesium-137 has a half-life of 30 years. If 1.0g of cesium-137 disintegrates over a period of 20
years, how many grams of cesium-137 would remain?
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28. Selenium-83 has a half-life of 25 minutes. How many minutes would it take for a 10 .0 mg sample to decay
and have only 3.3 mg of it remain?
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